Instrukcja montazu gmoli/ Installation instruction for crash bars

MODEL BMWBU0070

/W sktad zestawu wchodzi (Rys. 1):
1.0rurowanie lewe,
2. Orurowanie prawe,
3. tacznik przedni,
4. Sruba imbusowa M10x90 mm z podktadkami i nakretka,
5. 2 sruby imbusowe M10x60 mm z podktadkami i tulejkami
dystnansowymi,
6. 2 sruby imbusowe M10x25 mm z podktadkami,
\7.2 Sruby imbusowe M8x25mm z podktadkami.

M=

www.heed.com.pl

Orurowanie powinno by¢ zaktadane tylko przez osobe wykwalifikowana. Nalezy
zwrdcic szczegdlng uwage na wigzki elektryczne, przewody hamulcowe oraz
przewody gumowe chtodzenia silnika tak, aby nie byty przycisniete lub nie tarty
podczas eksploatacji o gmole z powodu Zle przeprowadzonego montazu orurowania.
Catos¢ orurowania zatozy¢ swobodnie dopiero na koricu skreci¢ docelowo.

1. Wykreci¢ srube silnikowa ponizej owiewki z prawej strony motocykla (Rys. 3 pkt. 5).
W razie problemdw z dostepnoscia sruby mozna na czas instalacji odinstalowaé
fragment owiewki znajdujacy sie bezposrednio nad nig.

2. Uzywajac sruby M10x90 mm z podktadkami i nakretka (Rys. 34 pkt. 4) przykrecic¢
przedni tacznik orurowania (Rys. 3 i 4. pkt. 3) w pustym otworze technologicznym w
przedniej dolnej czesci bloku silnika. (Rys. 2 pkt. 4).

3. Zamontowac prawg cze$¢ orurowania (Rys. 4 i 5 pkt. 2) do motocykla:

- w gérnej czesci uzy¢ sruby M10x60 mm z tulejg dystansowg z zestawu przykrecajac
orurowanie w miejscu sruby usunietej w kroku 1 (Rys. 5 pkt. 5),

- w dolnej przedniej czesci przykreci¢ sSrubg M10x25 mm (Rys. 4 i 5 pkt. 6) z zestawu
do tgcznika zainstalowanego w kroku 2 (Rys. 4 i 5 pkt. 3),

- w dolnej tylnej czesci przykreci¢ orurowanie do pustego otworu technologicznego na
spodniej stronie bloku silnika (Rys. 2 pkt. 7) Srubg M8x25 mm z zestawu (Rys. 4 pkt.
7).

UWAGA! Przed wkreceniem sruby zaleca sie przeczyszczenie otworu
technologicznego z nagromadzonych w nim zanieczyszczen.

4. Czynnosci 1i 3 powtdrzy¢ analogicznie po drugiej stronie motocykla instalujac lewg
czes$¢ orurowania (Rys. 7 pkt. 1).

5. Dokreé wszystkie sruby mocujgce gmole.

Po przejechaniu 50 km zalecane jest sprawdzenie poprawnosci dokrecenia wszystkich srub.




Instrukcja montazu gmoli/ Installation instruction for crash bars

Piping should be installed only by a qualified person.

Pay particular attention to the electric beams, brake hoses and rubber hoses for
engine cooling, so that they are not pinched or they doesn't chafe during operation
due to wrong installation of piping.

During installation it is recommended to set up piping freely.

1. Remove engine bolt below the fairing on the right side of the motorcycle (Fig. 3
/ . . \ pt. 5). In case of problems with the accessibility of the bolt, you can remove the
The set includes (Fig. 1):

1 Left ioi part of the fairing located directly above it on installation time.
2' R('a hflp'ln.g. 2. Using the M10x90 mm bolt with washers and a nut (Fig. 3 and 4 pt. 4), screw the
- RIgNt pIpINg. front piping connector (Fig. 3 and 4 pt. 3) to an empty technology hole in the front
3. Front connector. . .
. lower part of the engine block (Fig. 2 pt. 4).

4. Bolt M10x90 mm with washers and nut. . . .

. 3. Install the right part of the piping (Fig. 4 and 5 pt. 2) to the motorcycle:
5. 2 bolts M10x60 mm with washers and spacer sleeves. . L

) - in the upper part use the M10x60 mm bolt from the set to screw the piping in place
6. 2 bolts M10x25 mm with washers. . .
7 2 bolts M8x25 ith h of bolt removed in step 1 (Fig. 5 pt. 5),

\' olts Miex2> mm with washers. / - in the lower front part use the M10x25 mm bolt (Fig. 4 and 5 pt. 6) from the set to

screw the piping to installed in step 2 front connector (Fig. 4 and 5 pt. 3),

- in the lower rear part use the M8x25 mm bolt from the set (Fig. 4 pt. 7) to screw
the piping to an empty technology hole on the bottom part of the engine block
(Fig. 2 pt. 7).

Note! Before screwing in the bolts it is recommended to purge the technological
hole of dust accumulated in it.

4. Repeat analogously steps 1 and 3 on the other side of the motorcycle to install left
part of the piping (Fig. 7 pt. 1).

8. Tighten all the piping.

After 50 km it is recommended to control, if all bolts are tightened correctly.

M=

www.heed.com.pl




Instrukcja montazu gmoli/ Installation instruction for crash bars

MODEL BMWBU0070




Instrukcja montazu gmoli/ Installation instruction for crash bars

MODEL BMWBU0070

Mk

www.heed.com.pl




